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Recruitment of Sl in CAPFs ASI in CISF and Sl in Delhi Police Examination

2020 Paper |
[Roll No.
Candidate Name
Venue Name
Exam Date 25/11/2020
Exam Time 10:00 AM - 12:00 PM
Subject S| CPO Examination 2020
Secton General Intelligence and Reasoning
Q.1 Ina certain coding system. ‘Read this book” is coded as ‘689", *This book is useful” is coded as 9675, and ‘Useful book is
good” is coded as *5479°. What is the code for *This book is good” in this system?

Ans  of 1 4065

X 2 6457

< 3 8405

< 4 7859

ueston D 6549782463

Not Attempted and
Marked For Review

Chosen Opton --

Status

Q2 1dentify the number which when added to itse
Ans x 116

v'2 13
<315

X414 4

4 fimes gives 195.

Queston D 6549782477
’ Status Answered
Chosen Opton 2
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Q.3  Study the given pattern carefully and select the number that can replace the question mark (?) in it.

18 |21 (24
24 |11 |27

16 | 22 | 18
Ans x1 36
X2 32
v 42
X 4 38

Queston D 654978

Status Not 4

Q.4 Which letter-cluster will replace the question mark (?) in the following series?

SAG, KSY, CKQ, ?
Ans X1 UZF

< 2 RZF

X 3 UAG

v 4 SAG

Queston D 6549782455
Status Not Answered
Chosen Opton --

Q.5 Ina family of five members, P is Q’s sister and is R'séther and T is 5's mother. How is P related to

5?7

Ans ' 1 Grand-daughter
< 2 Niece
/< 3 Daughter
#< 4 Mother

Queston D 6549782470
Status Answered
Chosen Opton 1
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Q.6 sStudy the given pattern carefully and select the number that can replace the question mark (?) in it.

46 | 12 | 30 | 28

32|16 7 | 30

Ans x1 20
X216
<322
v 18

Queston D 65497824

Not Att ted

Status Marked F

Chosen Opton --

evie

Q.7  Xis 7" from the top while Y is 16™ from the bottom in the class ranking. If they interchange their positions. then X
becomes 21" from the top. What will be the position of Y from the bottom?

Ans x1 lﬁﬂl
XZ 29\‘1‘1
X3 gpst
«4 3{)\‘1‘1

Status Answered

16 x4+ 12+4—15=59 N
Ans X1 4and 12; % and +

X 2 12and 15;+

Queston D 6549782468
Chosen Opton 4
Q.8  Which two numbers and two signs can be intercianged s to balance the given equation?

Queston D 6549782482

Status Answered

Chosen Opton 3
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Q.9 Study the given pattern carefully and select the number that can replace the question mark (?) in it.

12 |18 |16 | 20
18[12]| 7 |25

Ans J1 g
<2 14
<310
<412

Queston D 65497824

Not Att ted

Status Marked F vie

Chosen Opton --

Q.10 In a certain coding system, if OXBRIDGE is written as BDEGIORX, how will MOUTHFUL be written in the same
coding system?

Ans X1 FLHMOTUV
v 2 FHLMOTUU
# 3 HFULMOUT
& 4 FGLNOTUU

Queston D 6549782465

Not Attempted and

Status Marked For Review

Girls, Tennis plavers, Bovs
Ans ¢
X1

Chosen Opton --
Q.11 Select the Venn diagram that best illustrates the relati ip between the following classes.

Queston D 6549782502

Status Answered

Chosen Opton 4
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Q.12 Select the option that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first
letter-cluster.

ACTION : TCANOIL::BOTTLE:
Ans o' 1 TOBELT

/< 2 ELTTOB

& 3 OBTTEL

/< 4 EBLOTT

Queston D 6549782460
Status Answered
Chosen Opton 1

Q.13 Which number will replace the question mark (?) in the following number series?

16, 28, 7, 46, 52

Ans  of 1 38
X2 42 *
<3 36
<4 40

Queston D 6549782473
Status Answered
Chosen Opton 1

Q.14 Select the correct sequence of mathematical signs to replacﬁe c&ahmm the given equation.
T2*12%8%6*22=32
Ans B 1 ot Moo O
V2 ++Hx = *
3 e et
x 4 =% +

Queston D 6549782483
Status Answered
Chosen Opton 2

5 www.jkchrome.com www.jkchrome.com www.jkchrome.com



6 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Q.15 Identify the option that is embedded in the following figure (rotation is NOT allowed).

?

Ans
e

X2

= 3%

ueston D 6549782493
Status Answered
Chosen Opton 1

Q.16 Select the option in which the numbers share the same relationship as that

84:72
Ans X1 7764
X2 64:56 0

V'3 68:54
X4 76:62

pair of numbers.

Queston D 6549782480

2 Status Not Attempted and
Marked For Review

Chosen Opton --
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Q.17 Select the figure that will replace question (?) mark in the following figure series.
. ?
Ans
r g
fy
xs (L
Mt
X
Queston D 6549782492
Status Answered
Chosen Opton 2
Q.18 While coming home from school at 5 p.m., Ketaki’s shadow was felhi . In'Which direction is the school from
her home?
Ans X1 North-West
# 2 North-East
v 2 North 2
< 4 South
4 Queston D 6549782488
Status Answered
Chosen Opton 3
Q.19 Inacertaine you’ is coded as *639°, *are you fine today” is coded as *6453°, and ‘stay fine is coded
as ‘58", What ‘today” in this system?
Ans (
X3 6
K45
Queston D 6549782462
Status Answered
Chosen Opton 1
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Q.20 Which number will replace the question mark (?) in the following number series?

34, 42, 50, 56, 62, 66, 7
Ans x 1 66
<2 68
X3 72
v 70

Queston D 6549782474

Status Answered

Chosen Opton 4

Q.21 Which figure will replace the question mark (?) in the following figure series?

FaN” NPas T APy
Al |A
P

>

>
>

>

L= » |
-3

= >
>

A
Lz Fagr Y AlAIA AlAlA

Ans

X
>

e
>

X
|
=

3
>

<

|
>
EYE
L 2

Queston D 6549782491

Status Answered

Chosen Opton 4

8 www.jkchrome.com www.jkchrome.com

www.jkchrome.com



9 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Q.22 Tdentify the option that is embedded in the following figure (rotation is NOT allowed).

Il

K2

Ans

Q.23 Two statements are given, followed by two conclusions numbered I and II. Assuming
they seem to be at variance with commonly known facts, decide which of the conclysi
statements.

o true, even if
ollow(s) from the

atel
s logicall

Statements:
Some cats are rats.
All rats are mice.

Conclusions:
L Some cats are mice.

II. Some mice are cats.

Ans o 1 Both conclusions I llow.

Queston D 6549782471
Status Answered
Chosen Opton 1
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Q.24 Select the Venn diagram that best illustrates the relationship between the following classes.

Potato, Vegetable, Carrot

Ans

Ko

K2

GlOlEC

Queston D 6549782501
Status Answered
Chosen Opton 4

Q.25 Three different positions of the same dice are shown. Findfthe numbeg oiNthe face opposite to the one having the

| 2
PR *
s X1 4 Y

An

K25
Vs 2
K43
Queston D 6549782498
Status Answered
Chosen Opton 3
10 www.jkchrome.com www.jkchrome.com www.jkchrome.com



11 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Q.26 Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd one out.
Ans o1 BSMK

X 2 GKDT

X3 CQLJI

X 4 DPNH

Queston D 6549782459

Not Attempted and
Marked For Review

Chosen Opton --

Status

Q.27 John went straight from a hotel and turned left after covering 3 km and travelled 5 km in that direction to reach point X.
From here, he took a right turn and travelled 4 km, and again took a right turn and travelled 4 km. From here. he took a
turn to reach point X straight. If John is now moving towards the North-West direction, in which direction did he start
moving from the hotel?

Ans X1 West
< 2 North
#< 3 South-East
« 4 East

ueston D 6549782489
Status Answered
Chosen Opton 2

Q.28 Ina certain coding system. if CHICANERY is written as DNODTHVKS. h
coding system?

Ans  of 1 DKTHV
< 2 DOTKV
< 3 CISGU
« 4 HKSHO *

Queston D 6549782464
Status Answered
Chosen Opton 1
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Q.29 Three statements are given, followed by three conclusions numbered I, IT and III. Assuming the statements to be true,
even if they seem to be at variance with commonly known facts, decide which of the conclusions logically follow(s)
from the statements.

Statements:

L All covers are red.

IL All red are magazines.

III. Some magazines are books.

Conclusions:

1. Some books are red.

II. Some magazines are covers.
III. No cover is book.

Ans "1 Both conclusions I and II follow
/< 2 Both conclusions II and III follow
+ 3 Only conclusion II follows

/< 4 Only conclusion I follows

Q.30 Which number will replace the question mark (?) in the following muas

8,13,23,43,?
Ans (1 23
X2 86

Quest on 782472

Status Answered
Opt 4

N

Queston D 6549782475

Status Answered

Chosen Opton 1

12 www.jkchrome.com www.jkchrome.com
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Q.31 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

%

.

Ans

X2

RS S

st on 6549782499
at Answered

Q.32 If *+ is interchanged with **°, and ‘- is interchanged with *+°, then which of the followin
Ans  of 1 18+6x24—4+64=50

X2 18+6+24—-4x64=50

K3 18-6x24+4+64=50

X4 18+6+24—-4x64=50

Queston D 6549782481
Status Answered
Chosen Opton 1

Q.33 ©Ona farm, there are 48 ducks, 42 goats and 10 ¢ attendants. If the total number of feet is 2 16 more than
the number of heads, what is the of attendani the farm?

Ans x1 10 3
<214
<38
v g

Queston D 6549782479
Status Not Answered
Chosen Opton --
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12

33

28

9

12

?

13

40

17

Ans x1

16
6l
>1
15

Q.34 study the given pattern carefully and select the number that can replace the question mark (?) in it.

Queston D 654978
Status Not Ans'
Chosen Opton --

Q.35 TF HEAT F FER H AR FURT F GO G F F, A A TR H gewete) qaw § At
39 3mesr & Frar M Prer & 9 ) 59 R e sneeh & e & w7 WAy R

Ans X1 st
X2 TR A
X3 ar
VL

Queston D 6549782469
Status Marked For Review
Chosen Opton 2
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Q.36 A paper is folded and cut as shown in the following figures. How will it appear when unfolded?

Ans

X3

o o0

Status Answered

*

Ans

Q‘ Queston D 6549782495
Chosen Opton 1
Q.37 Select the figure that will repldee k (?) in the following figure series.

Queston D 6549782490

Status Answered

Chosen Opton 2
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Q.38 Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

PQRLG
Ans %1 GLRQP
v 2 DIA0T
X3 HTI0d
X4 908,10

Chosen Opton 2

Queston D 6549782500

Status Answered

Q.39 Three of the following four letter-clusters are alike in a certain way and one is different. Pick the letter-cluster that is
different from the rest.

Ans  of 1 YACE
< 2 SHRI
< 3 WDVE
< 4 UFIG

Queston D 6549782458

Status Answered

Chosen Opton 1

™
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Ans

Q.40 A paper is folded and cut as shown in the following figures. How will it appear when unfolded?

o

4

i
ﬂﬂﬂﬂﬂﬂ HHHH

i

§ B

gonyg@monn
TNl oo

X
T 0
0 ﬂﬂﬂ

K Queston D 6549782496
Status Answered
Chosen Opton 1

Ans

Q.41 Select the correct option that indicates th‘n' following terms in a logical and meaningful order.

1. Answer writing
. Answer book
. Admit card

. Question paper
. Examination form

X1 3.5-2.4
2 53-
X3
A e23-1-4

¢

LT S N ]

Queston D 6549782456
Status Answered
Chosen Opton 2
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Q.42 Five students, J, K. L, M and N are sitting on a bench facing the blackboard. K is sitting to the immediate right of M,
who is sitting at the extreme left. If J is to the immediate left of L but exactly right of N, then who is sitting in the
middle of the bench?

Ans \,1 N
X217
X3 K
K4 L

Queston D 6549782467
Status Answered
Chosen Opton 2

Q.43 Which letter-cluster will replace the question mark (?) in the following series?

PMIJ, EBY, TQN, ?
Ans x1 HFD
V2 IFC
X 3 IGE
< 4 JGD

Queston D 6549782453
Status Answered
Chosen Opton 2

Q.44 Which number will replace the question mark (?) i owing number series?

24, 61, 122,213, 2

Ans X1 337
<2 334 *
V'3 340
< 4 343

Queston D 6549782476
Status Answered
Chosen Opton 3
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Q.45 Three different positions of the same dice are shown. Find the letter on the face opposite to the one having the letter A.
s X1 E

K2
X3
v

A

n W g

Chosen Opton --

Queston D 6549782497

Status

Q.46 WWhich letter-cluster will replace the question mark (?) in the following series?

EBF. IGK, OLP, ?
Ans X1 ZWC
X 2 AXE
X3 YVC
v s TQU

Status Answered

Queston D 6549782454
K Chosen Opton 4

Q.47 Select the option that is related to the third letter-cluster in the sa, e second letter-cluster is related to the first
letter-cluster.
JEALOUSY : LAYSEJUO : : FUSEWIRE :

Ans X1 EEFIRSUW ¢
v 2 ESERUFIW

# 3 ESUFE P
X 4 REWIS
Queston D 6549782461
Status Answered
Chosen Opton 2
19 www.jkchrome.com www.jkchrome.com
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Q48 v 7 F o I F T, T G YT g F A A Y T A I F awaw ofr) 7R
5 ¥ wge, 3 & 31y 16 ¥ off, I A fr ITTAT WG AT w4

W42 3
X2 32 3%
X3 38 ¥
X437 3%

Queston D 6549782478
Status Answered
Chosen Opton 1

Y Rrrm et & i 3R QT & ¥ swETRyE == T Reew w1 oTEa
F

1. g3 (Mansion)
2. A (Cottage) 4
3. Fge (Palace)
4. a7 (Cabin)
5. aFEEE (Villa)
Ans X1 2-4-1-5-3

X2 2-1-3-4-5 K
v 4-2.5-1-3 0

X4 3-1-2-4-5
4 Queston D 6549782457
Status Answered
Chosen Opton 3
Q.50 Ifina coding system, FIXED is ¢ COMPANY is coded as 101. then how will INTERIM be coded in the

same coding system?

Ans - X1 101
vy
X

Queston D 6549782466

Not Attempted and
Marked For Review

Chosen Opton --

Status

Sect on General Knowledge and General Awareness
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Q.1 'The Name you can Bank Upon' is the slogan of which of the following banks?
Ans X" 1 HDFC Bank

x 2 State Bank of nd a
“ 3 Punjab Nat ona Bank

x 4 Canara Bank

Queston D 6549782509
Status Not Answered
Chosen Opton --

Q.2 Which of the following ancient ports was situated on the Malabar Coast?
Ans « 1 Muzrs

x 2 Paur
X 3 Barygaza
x 4 Tamra pt

Q.3 India observes ‘Good Governance Day’ on the birth anniversary of
Ans “ 1 Ata B har Vajpayee

x 2 Jyot Basu
x 3 BR Ambedkar

x 4 Ja Prakash Narayan

t on 8 6549782532
atus Not Answered
se ton --

0,5/‘

Queston D 6549782539
Status Not Answered
Chosen Opton --

Q.4 Which among the following bowlers wa
International Men’s World Cup match?

Ans x1 Moeen A 2

x 2 Ben Stokes

ix consecutive sixes in an over in a T20

Queston D 6549782552
Status Answered
Chosen Opton 4
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Q.5 Which of the following states came into being as the 23rd, 24th and 25th states of the
Indian Union in 1987?

Ans «1 M zoram, Arunacha Pradesh, Goa
x 2 Maharashtra, Gujarat, Rajasthan
x 3 Uttarakhand, Jharkhand, Chhatt sgarh

x 4 Man pur, Tr pura, Megha aya

Queston D 6549782547
Status Answered
Chosen Opton 1

Q.6  Which of the following water bodies is closest to the Palk Strait?
Ans x 1 Mah m Creek

“ 2 Guf of Mannar
x 3 Gu f of Khambhat
x 4 Ch ka Lake

n’ 6549782529
atus Not Answered
h Opton --

Q.7 How many medals in total did India win at the Summer Olympic Games, 20

Ans x12
2o
K33
X 44

Queston D 6549782549
Status Not Answered
Chosen Opton --

Q.8 In the context of Convention ol
Conference of the Parties was

Ans X‘I Shangha

x 2 Dhaka
x 3 Kandy
( 4 H¥@era

Queston D 6549782523
Status Not Answered
Chosen Opton --
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Q.9 Which of the following Ministries releases the ‘Ease of Living Index’ in India?

Ans X" 1 Mnstry of Soca Just ce and Empowerment
“ 2 M n stry of Hous ng and Urban Affars
x 3 Mn stry of F nance

X 4 Mn stry of Sk Deve opment and Entrepreneursh p

Queston D 6549782512
Status Answered
Chosen Opton 2

Ans X" 1 Basketba

#< 2 Kabadd

( 3 Vo eyba

x 4 Hockey

Q.10 With which sport among the following do you associate the name of Mohan Ukkrapandian?

fledged member?
Ans X" 12016

75 22015

Q.11 In which year did India officially join the Shanghai Cooperation Organization (SC

t on 3 6549782551
atus Not Answered
se ton --

a full-

/X 32018 K
W 4 2017 Q

¢

Queston D 6549782545
Status Not Answered
Chosen Opton --

Q.12 In which country is the FIFA Wekld Cup, 2 scheduled to be held?

Ans «1 Qatar L 4
x 2 Kuwa't
X 3 raq
X as r

Queston D 6549782550
Status Not Answered
Chosen Opton --

23 www.jkchrome.com www.jkchrome.com
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Q.13 The Indian Standard Time corresponds to the longitude
Ans "1 765

o 2825

/X 3855
X 4795

degrees East.

Queston D 6549782527
Status Not Answered
Chosen Opton --

Q.14 With symbols having their usual meanings, which one among the following is used as the
standard for defining atomic mass unit?

Ans  of 1 Cc2
K2 HA
X 308
X 4 N-14

n’ 6549782518
atus Answered
h Opton 1

Q.15 Lal Bahadur Shastri served as the Prime Minister of India from
Ans X" 1 1966;1977

to

75 2 1977,1979
o 3 1964;1966
75 4 1980;1984

Queston D 6549782544
Status Answered
L 2 Chosen Opton 3
Q.16 Tl wAuT R I TR AT & T foRaT T ATl
Ans X 1 & gt \ 4

75 2 & Aeamr

Queston D 6549782536
Status Answered
Chosen Opton 4
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Q.17 ‘Those Days'’ is the translated version of a Sahitya Akademi Award winning historical novel
originally written by:

Ans “ 1 Sun Gangopadhyay
x 2 Bhartendu Har shchandra
x 3 Sum tranandan Pant
x 4 Nand ta Das

Queston D 6549782540

Status Not Answered

Chosen Opton --

Q.18 India joined the United Nations after ratifying the UN Charter in .
Ans X" 1 December 1945

75 2 May 1946
o 3 October 1945

x 4 February 1946

h

n’ 6549782543
atus Not Answered
Opton --

Q.19 The first Indian satellite, Aryabhata, was launched on 19 April .
Ans X" 11977

X 21974

/X 31976 K
W 41975 Q

Queston D 6549782517

Status Not Answered

L 2 Chosen Opton --

Q.20 The upward and downward growth of sho nd roots, respectively, in response to the pull
of gravity is called . 7S

Ans x1 phototrop sm

Queston D 6549782524

Status Answered

Chosen Opton 2
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Q.21 Cathode rays are a beam of:
Ans X" 1 neutrons

x 2 protons
x 3 pos trons

« 4 e ectrons

Queston D 6549782519
Status Answered
Chosen Opton 3

Q.22 Which of the following places is closest to the Hemis Monastery?

Ans  of 1 Leh
x 2 Gangtok
/< 3 Darjee ng
x 4 Dharamsha a

Q.23 Which among the following books was written by BR Ambedkar?
Ans X" 1 The New Econom ¢ Menace of nd a

x 2 Savtr
75 3 Satyarth Prakash

“ 4 Annh aton of Caste

ton 8 6549782507
atus Not Answered
se ton --

¢

Queston D 6549782535
Status Not Answered
Chosen Opton --

Ans X" 1 UNDxt
« 2 Shuja Nawaz

/5 3 SDMun

x 4 Shash

*

Q.24 Who is the author of the book ‘Crosse ords? Pakistan, Its Army and the War Within'?

Queston D 6549782542
Status Not Answered
Chosen Opton --
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Q.25 Which of the following books is NOT authored by Nirad C. Chaudhuri?
Ans “ 1 APassageto nda

x 2 Scho ar Extraord nary
x 3 Autob ography of an Unknown nd an

x 4 The Cont nent of C rce An Essay on Peop e of nd a

Queston D 6549782541
Status Not Answered
Chosen Opton --

Q.26 Which of the following places is NOT associated with the Kumbh Mela?
Ans x 1 Nash k-Tr mbakeshwar

/X 2 Ujjan
x 3 Har dwar

(4 Pur

Q.27 Which of the following dams is constructed across the river Krishna?

Ans (1 Nagarjuna Sagar

X 2 Bhakra Nanga

x 3 Tehr
X 4 H rakud

t on 8 6549782505
atus Not Answered
se ton --

*

Queston D 6549782525
Status Not Answered
Chosen Opton --

Q.28 The Mangalyaan mission was launche therocket:
Ans X" 1 PSLV-C38
L 4

#< 2 GSLV Mk
/5 3 PSLV-C35

o 4 pPsLvc

Queston D 6549782520
Status Answered
Chosen Opton 2
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Q.29 The mouth of which of the following rivers lies to the north of the Tropic of Cancer?
Ans X" 1 Godavar

x 2 Krshna
(3 ndus

x 4 Mahanad

Queston D 6549782530
Status Not Answered
Chosen Opton --

Q.30 One calorie of heat energy is equivalent to approximately
energy.

Ans X" 1024

X 2048
K324
o 442

joules of mechanical

n’ 6549782514
atus Answered
h Opton 4

Q.31 Which among the following states does NOT share its border with Odisha?
Ans X" 1 Chhatt sgarh

x 2 West Benga

(3 B har

x 4 Jharkhand

Queston D 6549782526
Status Not Answered
Chosen Opton --

Q.32 Who among the following was the Chairm f the Committee for the Draft National
ion Cabinet in 2020?

Ans

Queston D 6549782548
Status Not Answered
Chosen Opton --
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Q.33 Who is the Secretary-General of the United Nations as on July 20207?
Ans X" 1 Javer Perez de Cue ar

x 2 Kurt Wa dhe m
X 3 Ban K-moon

( 4 Anton o Guterres

Queston D 6549782546
Status Not Answered
Chosen Opton --

Q.34 In the context of the banking sector, what does ‘F’ stand for in IFSC?
Ans "1 Fsca

x 2 Forum

x 3 Funct ona

“4 F nanc a

tong 6549782510
atus Not Answered
se ton --

Q.35 At which of the following places is the Nehru Memorial Museum and Librasy located?
Ans ( 1 New De h

x 2 Ko kata
x 3 Prayagraj

x 4 Mumba

Queston D 6549782503
Status Not Answered
Chosen Opton --

Q.36 With reference to taxonomic categorie

Ans  of 1 cass
x 2 famy
75 3 order
x 4 phyum

‘Mammalia’ is a/an

Queston D 6549782516
Status Not Answered
Chosen Opton --
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Q.37 The wetland of Ashtamudi is located in:
Ans X" 1 Karnataka

X 2 Assam
« 3 Keraa

x 4 Tam Nadu

Queston D 6549782528
Status Not Answered
Chosen Opton --

Q.38 Kudumbashree is a programme implemented by the State Poverty Eradication Mission
(SPEM) in .

Ans "1 0dsha

X 2 Gujarat

x 3 Andhra Pradesh

« 4 Keraa

n’ 6549782508
atus Not Answered
h Opton --

Q.39 ‘Shishu’ ‘Kishore’ and ‘Tarun’ are the types of loans under:

Ans x 1 Ata Penson Yojna

x 2 Pradhan Mantr Suraksha B ma Yojana
Queston D 6549782511

x 3 Pradhan Mantr Rojgar Protsahan Yojna K
“ 4 Pradhan Mantr Mudra Yojana Q
O Status Not Answered

L 2 Chosen Opton --

Q.40 The festival of Sekrenyi is cel
Ans X' 1 Maharashtra

x 2 Rajasthan

ated in t onth of February by the Angami tribe of:

Queston D 6549782506
Status Not Answered
Chosen Opton --
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Q.41 A healthy individual has 12-16 grams of haemoglobin in every ml of blood.
Ans o1 100

/X 2 100000

2< 3 10000

2< 4 1000

Queston D 6549782515
Status Not Answered
Chosen Opton --

Q.42 The first Star Guild Awards ceremony was held in Mumbai in the year:
Ans X 1 2005

X 2 2007
W 3 2004
X 42006

Q.43 ‘Siri’, the second city of Delhi, was builtby ____.
Ans X 1 Sher Shah Sur

25 2 Prthv raj Chauhan
o 3 Aauddnkh j

on 3 6549782538
atus Not Answered
e ton --

x 4 Fruz Shah Tugh aq Q&

Queston D 6549782533
Status Not Answered

Chosen Opton --
*
Q.44 ‘mho’ is the unit of of a substa
Ans X 1 res stance
L 4
X 2 resstvty
J 3 conductanc
x 4 condu
Queston D 6549782522
Not Attempted and
Status Marked For Review
Chosen Opton --
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Q.45 30°Celcius =
Ans X1 243

W 2 303
X 3130
X4 30

Kelvin (approximately)

Queston D 6549782513
Status Answered
Chosen Opton 2

Q.46 Which of the following represents an alpha particle?

Ans 2

X SHe

J 2 ;He

X 3 iHe

X a 1He ¢

1
Queston D 6549782521
Status Not Answered
Chosen Opton --

Q.47 Who among the following had been given the title of ‘Sultan Bu ah Jahan?

Ans X 1 shuja

JZ Dara
< 3 Murad 0

X 4 Aurangzeb

¢ Queston D 6549782531
Status Not Answered
Chosen Opton --

Q.48 Who among the follo used the title ‘Babu’ before his name?
Ans X 1 K Kamraj

J 2 Jagjva

X 3 JBKrp

Desa

Queston D 6549782537
Status Not Answered
Chosen Opton --
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Q.49 The Sahitya Akademi Award was instituted intheyear __.
Ans "1 1960

X 21989
W 3 1954
X 41992

Queston D 6549782504
Status Not Answered
Chosen Opton --

Q.50 Which of the following is a part of the ‘Sutta Pitaka'?
Ans J 1 Majjh ma N kaya

x 2 Dhammasangan
< 3 ManuSmrt

/X 4 Dpavamsa

on 3 6549782534
atus Not Answered
se ton --

Sect on Quantitative Aptitude

Q.1 The given bar graph shows the number of students of two schools over a period of si 6

=School A ®School B

Queston D 6549782595

Not Attempted and
Marked For Review

Chosen Opton --

Status
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az 40+> of 32
+—o0
The value of ——2*——s:
37+_of (34-6)
Ans
vi1z
29
X242
29
X31=
29
X4 2=
29
Queston D
Status N
Chosen Opt OBges-

Q.3 Iftwo successive discounts, each of 20% on the marked price of an article, are equal to a single discount of ¥331.20,
then the marked price (in ) of the article is:

ans of 1920 ¢
X2 750
X 3 1.200
X 4 645

Queston D 6549782563
Status Answered
Chosen Opton 1

Q.4 A, Band C started a business investing 0f 313,750, T LGP0 nd 30, respectively. If B's share in the profit
earned by them is 75,200, what is the difference in the profit (%) earne Aland C?
Ans o1 1,600 .
< 2 1,800
X 3 1,500 .
X 4 1,200

Queston D 6549782564
Status Answered
Chosen Opton 1

9, x2+y2+22=133 andxz =y?,x >z > 0, what is the value of (x — 2 )?

Queston D 6549782585

Not Attempted and
Marked For Review

Chosen Opton --

Status
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Q.6 Acircle is inscribed in a triangle ABC. It touches side AB. BC and AC at points R, P and Q. respectively. IFAQ= 2.6
cm, PC = 2.7 cm and BR = 3 cm, then the perimeter (in cm) of the triangle AABC is:

Ans o1 16.6
X2 332
X3 30
X 4 28

Queston D 6549782587
Status Answered
Chosen Opton 1

Q.7  Aladder leaning against a wall makes an angle  with the horizontal ground such that tan 8 = 1?2 If the height of the
top of the ladder from the wall is 24 m, then what is the distance (in m) of the foot of the ladder from the wall?

Ans X1 18
X2 195
X375
v+ 10

Q.8 Theaverage of twelve numbers is 39. The average of the last five numbers is 35, and th
The fifth number is 6 less than the sixth number and 5 more than the seventh numbe

seventh numbers is:
Ans X1 475
X2 50 Q
X3 39
v 445
L 2
Queston D 6549782568
Status Not Attempted and
Marked For Review
L 4 Chosen Opton --
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Q.9 Tpe following histogram shows the weights of students of class X in a school on a particular day. Total number
of students enrolled in class X = 200.

v
O
»
£ -
g8 % as Lo
2
T -
o 2
-
10|
s 9 3 ®r 8 € R 2
Weight (a1g)

The number of students weighing less than 55 kg is what percentage less than the number of students weighing
55 ke to 65 ke?

Ans X1 7%
v2 5%
X 3 10%
X4 8%

n D 6549782601

Q.10 Asum amounts to 7,562 in 4 years and t0 38,469.44 in § years, at a certain rate per cent peran
compounded yearly. If ¥10,000 at the same rate of interest is borrowed for two years, thg
interest (in )?

Ans o1 2,544 K
X2 1,736
X3 2,764
X 4 1,965
2
Queston D 6549782571
Status Not Answered
Chosen Opton --
L 4
Q.11 The radius of the base of, ¥ 8\ 4 ciYand its volume is 6160 cm?. The curved surface area (in em?) is:
(Take = 2%)
Ans x 1
3
X 4940
Queston D 6549782578
Status Answered
Chosen Opton 2
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Q.12 A train x running at 74 kmvh crosses another train y ruaning at 52 knvh in the opposite direction in 12 seconds. If the
length of y is two-thirds that of X . then what is the length of y (inm)?

Ans X1 252

v 2 168

X3 210
< 4 200
Queston D 6549782576
Not Attempted and
Status Marked For Rev
Chosen Opton --

Q.13 If 4(cosec1 57 —tan’ 33)—cos90-l-y‘tam;!66"tan2 24=§ , then the value of y is:

Queston D 6549782591

Status Not Answered

Chosen Opton --

Q.14 The given histogram shows the height of the students.&

number of students

15 14
13 10 12
| ] [
iy
K

height class in

3

What is the percentage of dent%v height is in the class interval 165-175?
(correct to the nearest

Ans X1 34
V2 37
X3
X

Queston D 6549782600

Status Answered

Chosen Opton 2
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Q.15 A person invested T12.000 on simple interest for 7 years to obtain a total amount of T20,400 on a certain annual rate of
interest. What was the rate of interest to obtain the above amount?

Ans X1 7%
X 2 9%
X3 8%
v 10%

Queston D 6549782570

Status Answered

Chosen Opton 4

Q.16 The given bar graph shows the number of students of two schools over a period of six years.

#School A ®School B
1000

900
80p 820

800 e 750
:gz ‘ 600
- 500 s00 [0
40
300 -
200 -
100 -
0

640
550
2008 2009 2010 2011 2012 2013

S00

(=3

In the bar graph. what is the ratio of the average of total students from school otal students from

school A?
Ans X1 429:799
X< 2 799:429 Q
V'3 370: 429 0
X 4 429:370
*
Queston D 6549782596
. s Yokt
Chosen Opton --
Q.17 What s the sum of the di rwhich when divided by 15, 18 and 36 leaves the same remainder 9 in

Queston D 6549782556

Status Not Answered

Chosen Opton --
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Q.18 Theaverage weight of A, B and C is 65 kg. If the average weight of C and B is 61.5 kg, and the average weight of A and
C is 68.5 kg. then the weight of C (in kg) is:

Ans  of 1 65
<2 60
X3 68
X4 67

Queston D 6549782560
Status Answered
Chosen Opton 1

Q.19 Aistwice as good a workman as B. and together they finish a piece of work in 13 days. In how many days will A alone
finish the work?

Ans 1 4]
<2 39

1
V'3 19=
2

1
X492
4

Queston D 6549782572
Status Answered
Chosen Opton 3

Q.20 Two numbers are in the ratio 7 : 11. If their HCF is 28, thy of the two numbers is:

Ans  of 1 504

X2 196
<3 308

X4 112 ¢

Queston D 6549782555
¢ Status Answered
Chosen Opton 1

B and 2'C meet at O in the triangle. If ZBOC = 134°, then the measure of £ A is:

Queston D 6549782588
Status Answered
Chosen Opton 4
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Q.22 Atakes 2 hours 30 minutes more than B to walk 40 km. If A doubles his speed. then he can make itin | hour less than
B. What is the average time taken by A and B to walk a 40 km distance?

Ans 21 7 hours 15 minutes
' 2 5 hours 45 minutes
< 3 6 hours
/< 4 5 hours 15 minutes

Queston D 6549782577

Not Attempted and

Status Marked For Rev|

Chosen Opton --

Q.23 The given pie charts represent the popularity of ice-cream flavours in the years 2005 and 2015.

2005 2015
.
Othnr

\ ; 206%

Vanilla Vanllla
<zl.9x IG S% 5"““"""
189% 20.5%

Chocolate
32.7%

If a percentage point shift results in annuval additional sales of 5,000, how much (in %). did the combined
strawberry and butterscotch sales increase from 2005 to 20157

Ans 51 74,000
' 2 37,000
X 3 65,000
X 4 10,000

Q‘ Queston D 6549782598

Not Attempted and

Status Marked For Review

Chosen Opton --

Q.24 The given histogram shows the height of de

£
i L 2
i
3
The number ose height is in the class interval 165-170 is what percentage less than the number of
studen: ight is in the interval 150-155?
(
Ans .8%
v'2 6.7%
X3 1.9%
X4 5.5%
Queston D 6549782602
Status Answered
Chosen Opton 2
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Q.25 Ifdecreasing 110 by % gives the same result as increasing 50 by x% , then x% of 650 is what percentage (correct to
the nearest integer) more than (x — 10) % of 780?

Ans X1 1294

X2 17%
V'3 14%
X 4 18%
Queston D 6549782566
s S e
Chosen Opton --

Q.26 The given pie chart represents the popularity of ice-cream flavours in the year 2015,

In 2015, if the total sale of chocolate flavour is for 5,160, then the total sale (in Z) for vani V0!

Ans 31 4,100
X2 4,120
W 3 3.300
X 4 5,160 K
Q Queston D 6549782599
C) saus. LA
P Chosen Opton --

Q.27 Aperson sold an article at a loss of 16%. Had he so or more, he would have gained 8%. If the article is sold at
33,080, then how much profit percentag@is gained?

Ans X1 10% ¢
X2 15%
X 3 20%
v

Queston D 6549782565
Status Answered
Chosen Opton 4
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Q.28 Thesides of a triangle are 24 em. 26 cm and 10 em. At each of its vertex, circles of radius 4.2 cm are drawn. What is the

area (in cn?) of the porrion covered by the three sectors of the circle? (m = )
Ans X1 92.28

X2 120

< 3 105.86

v 2772

Queston D 6549782582

Status Not Answered

Chosen Opton --

Q.29 Seven years ago, the ratio of the ages of A and B was 4 : 5. Eight years hence, the ratio of the ages of A and B will be
9 :10. What is the difference between their present ages in years?

Ans  of1 3
X 2
X3
X a

(3]

N

ston D 6549782567
Status Answered

Chosen Opton 1

Q.30 1f 14331433 X 1422 X 1425 is divided by 10, the
Ans X1 3

X209 Q
o O

X438

¢

Queston D 6549782553

Status Answered

Chosen Opton 3

Q.31 If each side of a squ
Ans X1 25%

v 17%, then by what percentage does its area decrease?

Queston D 6549782579

Status Answered

Chosen Opton 3
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Q.32 The given bar graph shows the number of students of two schools over a period of six years.

®School A #S5chool B
900

820
800
750
700 750
600
00 I 500 480

640
550
5
2008 2009 2010 20Mm 2012 2013

BETTTEEETE

In the bar graph, in which vear is the absolute difference of the students from schools A to B taken together, the
maximum?

Ans  of 1 2012
X 2 2011
X3 2013
X 4 2010

ueston D 6549782594

Status Answered

Chosen Opton 1

Q.33 IfA’s salary is 30% more than B’s salary, then by what percentageg

(correct to one decimal place) Q

Ans X1 17.5%
V2 23.1%
X3 25%
X 4 19.7% *

Queston D 6549782562

Status Answered

Chosen Opton 2

b8k 785x3678y is divisible by 72, then the value of (x + ) is:

Queston D 6549782554

Status Answered

Chosen Opton 2
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Ans
X1 1+22\/5
X2 2—2\/5
X3 24—2\/5
v 1—22\/5

Q35 14— 25in%0 —5cosd = 0,0°< 6 < 90°, then the value of cos8 — tan® is:

Queston D 654978
Status Not Answ
Chosen Opton --

the tank be filled?

1

1 Y
~x 22
V22
1

3 B
< 52

X445

Ans

S

X214
vs36
X4 4

7 Fx*+x% =194 x »@
Ans X1 8

Q.36 Pipes Aand B can fill a tank in 16 hours and 24 hours, respactively. whereas pipe C can empty the full tank in 40 hours.
All three pipes are opened together, but pipe C is closed after 10 hours, After how many hours will the remaining part of

Queston D 6549782575
Status Answered
Chosen Opton 2

tisthevalueofx+i+2?

Queston D 6549782583
Status Answered
Chosen Opton 3
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.38
@ Thevalueofl—3+6of2+(4+4of1)+8+(4><8+1)><5 is:
4 4 8

Ans 69

Queston D
Statu
Chosen Optlon --

Q.39 5.35 X 5.35 X 5.35 4+ 3.65 X 3.65 X 3.65 .
The value of is: V'S
53.5 X 53.5 + 36.5 X 36,5 — 53.5 X 36.5
Ans o1 0.09

<209
<3 90
X409

Queston D 6549782559
Status Answered
Chosen Opton 3

Q.40 Ope side of a rhombus is 13 cm and one ofits diafbnal
Ans o1 120 14
X290
<330 *
X4 60

" What is the area (in cmz) of rhombus?

Queston D 6549782581
Status Answered
Chosen Opton 1

Q.41 P gents from a point P outside the circle with centre O. If A and B are points on the circle such that
LAPB , then 20AB is equal to:

Ans X1 3]°
< 2 58°
VENIT
X 4 64°

Queston D 6549782586
Status Answered
Chosen Opton 3
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Q.42 Two pipes Aand B can fill a tank in 12 hours and 18 hours, respectively. Both pipes are opened simultaneously. In how
much time will the empty tank be filled completely?

Ans 21 9 hours 30 minutes
X< 2 8hours
'3 7 hours 12 minutes
/< 4 10 hours 24 minutes

Queston D 6549782574

Status Answered

Chosen Opton 3

Q.43 The perimeter of a square is half the perimeter of a rectangle. The perimeter of the square is 40 m. If its breadth is two-
thirds of its length, then what is the area (in m?) of the rectangle?

on D 6549782580
Status Answered

Chosen Opton 1

Ans  of 1 384

X2 196

X3 321

X 4 400
Q.44 Three successive discounts of 12%. 13% and 11% are equivalent to an app| i iscount of:
Ans X1 40%

V2 320 K
X 3 35% Q
X 4 420 0

¢ Queston D 6549782561

Status Answered

Chosen Opton 2

Q.45 1 (5v5x° — 3v3y?) + (V5x (Ax* '+ By¥®+ Cxy) . then what is the value of (3A — B —V15C) ?
Ans  of 1 -3

X2 -5

X3

x

Queston D 6549782584

Status Answered

Chosen Opton 1
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Q.46 Aand Bcando a job in 10 days and 5 days, respectively. They workad together for two days. after which B was
replaced by C and the work was finished in the next three days. How long will C alone take to finish 40% of the job?

Ans 51 18 days

' 2 12 days
/< 3 15 days
/< 4 10 days
Queston D 6549782573
SEUS. Marked For Refle
Chosen Opton --

Q.47 The price of diesel is increased by 26%. A person wants to increase his expenditure by 15% only. By what percentage,
correct to one decimal place, should he decrease his consumption?

Ans X1 7.2%
X 2 9.5%
V'3 8.7%
X 4 6.5%

ueston D 6549782569
Status Answered
Chosen Opton 1

Q.48 The given pie chart represents the popularity of ice-cream flavours in the year 2

In 2005, if 40% of the ‘other’ category is WUI 570 people surveyed preferred mix fruit flavour, then
how many people were surveyed?

Ans  of'1 25,000

X 2 75,000 ¢
/< 3 10,000
X 4 50,0
Queston D 6549782597
SIEtUS. Vi For Reviow
Chosen Opton --
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Q.49 ImAABC.BD ! AC atD. E is a point on BC such that ZBEA = x°, If ZEAC = 62° and ZEBD = 607, then the valve of
X is:

Ans of 1 920
X2 78°
X3 76°
X 4 68°

Queston D 6549782589
Status Answered
Chosen Opton 1

Q.50 A person was standing on a read near a mall. He was 1215 m away from the mall and able to see the top of the mall
from the road in such a way that the top of a tree, which is in between him and the mall, was exactly in line of sight with
the top of the mall. The tree height is 20 m and it is 60 m away from him. How tall (in m) is the mall?

Ans X1 300
X2 375
V'3 405
X 4 250 V'S
on D 6549782593
Status oy Review

Chosen Opton --

Sect on English Comprehension

Q.1 Select the most appropriate meaning of the given idiom &
Through and through Q
Ans X 1 eventua y 0
J 2 competey

x 3 gradua y

X4partay

Queston D 6549782637
Status Answered
Chosen Opton 2

/X 3 ntended
x 4 p anned
Queston D 6549782627
Status Answered
Chosen Opton 2
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Q.3 Select the most appropriate meaning of the given idiom.

Egg on
Ans X' 1 agree

X 2 quarre

J 3 encourage

x 4 cont nue
Queston D 6549782634
Not Attempted and
StaluS  Marked For R
Chosen Opton --
Q.4 Select the wrongly spelt word.
Ans X' 1 custody
x 2 cursory
x 3 custom
l 4 curtesy P

on D 6549782646
Status Answered
Chosen Opton 4

Q.5 Select the most appropriate word for the given group of words.

A nature reserve for birds or animals

Ans X' 1 oass K
J 2 sanctuary Q
x 3 retreat 0

x 4 asyum

Queston D 6549782639
Status Answered
¢ Chosen Opton 2

which contains a grammatical error.

X4 The botte s pped

Queston D 6549782607
Status Answered
Chosen Opton 2
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Q.7 Identify the segment in the sentence which contains a grammatical error.

She picked up the books lie on the table and put them on the shelf.
Ans  of' 1 conthetabe

x 2 She p cked up

x 3 put them
x 4 onthe she f

Queston D 6549782606
Status Answered
Chosen Opton 1

Q.8 Select the most appropriate meaning of the given idiom.

Snake in the grass
Ans X" 1 amean person

25 2 asusp cous person

x 3 as ppery person
J4 adece tfu person

Queston D 6549782635
Status Answered
Chosen Opton 4

Q.9 Select the most appropriate option to fill in the blank.
Vivek has a strong resemblance his grandfather. K

Ans X1 from Q
x2 w th
J3 to
X4 about ¢

Queston D 6549782615
Status Answered
Chosen Opton 2

| Art Gallery but | want to visit zoo first.

word requ red; the

x 4 the; no word requ red

Queston D 6549782613
Status Answered
Chosen Opton 1
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Q.11 Identify the segment in the sentence which contains a grammatical error.

Rice of a best quality is available in the nearby supermarket at eighty rupees per kilo.
Ans X' 1 nthe nearby

J 2 abestqua ty
X 3 ateghty rupees
X 4 sava abe

Queston D 6549782604

e L
Chosen Opton --
Q.12 Select the wrongly spelt word.
Ans X" 1 eementary
J 2 aboratary
x 3 boundary
x 4 o factory 'S

on D 6549782648
Status Answered
Chosen Opton 2

Q.13 Identify the segment in the sentence which contains a grammatica
There will probably be a lot of fish in their nets, will there?

Ans X' 1 nthernets K

x 2 a otof fish Q

x 3 probaby be O

J4 w there

2
Queston D 6549782605
Status Answered
7S Chosen Opton 3
Q.14 Select the most app of the given word.
DESOLATE
Ans
Queston D 6549782625
Status Answered
Chosen Opton 4
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Q.15 Select the most appropriate ANTONYM of the given word.

IGNITE
Ans x1 burn

x 2 ght

J 3 extngush

x 4 knde

Queston D 6549782629
Status Answered
Chosen Opton 3

Comprehension:

n the fo ow ng passage some words have been de eted F  n the b anks w th the he p of the
aternat ves g ven Se ect the most appropr ate opt on for each number

The sma farm ng commun ty of Mdd areuth, ocated ha fway between Ber nand Mun ch n
rura Germany, s home to around 50 peop e and has just one pub And yet t (1) tens of
thousands of v s tors a year Upon arr va, (2) reason forth s s c ear Among the 18
houses and farms (3) a 100m- ong str p of concrete wh te wa , (4) was once part
of the former border between East and West Germany mean ng that one (5)

SubQuestion No : 16

Q.16 Select the most appropriate option to fill in the blank no. 1.

Q.17 Select the

Ans X' 1 sattracted

J 2 attracts

x 3 attract

x 4 w attract

Queston D 6549782619
Status Answered
Chosen Opton 2
Comprehension: L 2

n the fo ow ng passage some words
aternat ves g ven Se ect the most appr

deeted F nthe b anks w th the he p of the
te opt on for each number

The sma farm ng commu
rura Germany, s home to
thousands of v s tors
houses and farms (3
of the former bo;

SubQuesti

6d adeuth Jocated ha fway between Ber nand Mun ch n
peop e and has just one pub And yet t (1) tens of
va, (2) reason forth s s c ear Among the 18
Om- ong str p of concrete wh te wa , (4) was once part
st and West Germany mean ng that one (5)

riate option to fill in the blank no. 2.

J3the
X4any

Queston D 6549782620
Status Answered
Chosen Opton 3

52 www.jkchrome.com www.jkchrome.com

www.jkchrome.com



53 www.jkchrome.com www.jkchrome.com

www.jkchrome.com

Comprehension:

n the fo ow ng passage some words have been de eted F  n the b anks w th the he p of the
aternat ves g ven Se ect the most appropr ate opt on for each number

The sma farm ng commun ty of Mdd areuth, ocated ha fway between Ber n and Mun ch n
rura Germany, s home to around 50 peop e and has just one pub And yet t (1) tens of
thousands of v s tors a year Upon arrva, (2) reason forth s s c ear Among the 18
houses and farms (3) a 100m- ong str p of concrete wh te wa , (4) was once part
of the former border between East and West Germany mean ng that one (5)

SubQuestion No : 18
Q.18 Select the most appropriate option to fill in the blank no. 3.
Ans X 1 were
J 2s
x 3 are
x 4 was
Quest o 1
Status ered
Chosen Opt
Comprehension:
n the fo ow ng passage some words have been de eted F nthe b anks w th th
aternat ves g ven Se ect the most appropr ate opt on for each number
The sma farm ng commun ty of Mdd areuth, ocated ha fway between Ber
rura Germany, s home to around 50 peop e and has just one pub And ye ns of
thousands of v s tors a year Upon arr va, (2) reason forth s s gfea
houses and farms (3) a 100m- ong str p of concrete wh te wa was once part
of the former border between East and West Germany mean n t ONE
SubQuestion No : 19
Q.19 Select the most appropriate option to fill in the blan 4.
Ans X' 1 ths
X 2 who
x 3 whom ¢
J 4 whch
Y 3 Queston D 6549782622

Status Answered
Chosen Opton 4
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Comprehension:

n the fo ow ng passage some words have been de eted F n the b anks w th the he p of the
aternat ves g ven Se ect the most appropr ate opt on for each number

The sma farm ng commun ty of Mdd areuth, ocated ha fway between Ber n and Mun ch n
rura Germany, s home to around 50 peop e and has just one pub And yet t (1) tens of
thousands of v s tors a year Upon arrva, (2) reason forth s s c ear Among the 18
houses and farms (3) a 100m- ong str p of concrete wh te wa , (4) was once part
of the former border between East and West Germany mean ng that one (5)

SubQuestion No : 20

Q.20 Select the most appropriate option to fill in the blank no. 5.

Ans 5 1 branch

XZpece

X 3 component

J4 part

Q.21 Select the most appropriate option to fill in the blank.

When | solved the sum
Ans J1 myse f

x 2 tsef
x 3 onese f

| was very happy.

™

Quest o Q

Not Attempted and
ed For Review

nOpton --

Queston D 6549782614
Status Answered
Chosen Opton 1

Q.22 Select the most appropriate meani th en idiom.

A bird's eye view
J1 a cursory ook

Ans

Queston D 6549782636
Status Answered
Chosen Opton 1
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Q.23 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

| cannot tell you now whether | will be able to come or not.
Ans X 1 uness

X 2 because

x 3 ncase

J 4 No subst tut on requ red

Queston D 6549782609
Status Answered
Chosen Opton 4

Q.24 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

That tree fell down yesterday narrowly miss my car.
Ans J 1 narrowy m ss ng

75 2 No subst tut on requ red
x 3 narrowed m ss ng
x 4 narrow y m ssed

Queston D 6549782611
Status Answered
Chosen Opton 4

Q.25 Select the most appropriate word for the given group of words.

A young person tending to commit crime, particular| r Ci
Ans X 1 convct

Xz dere ct
X 3 crmna ¢

Jzi de nquent

L 2 Queston D 6549782642
Status Answered
Chosen Opton 4

Q.26 Select the a| e option to substitute the underlined segment in the given
sentence. need to substitute it, select ‘No substitution required’.
She w go to another school when she moves from here, has she ?

Ans subst tut on requ red

x 2 hasn't she

x3w she

J 4 won't she

Queston D 6549782610
Status Marked For Review
Chosen Opton 4
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Q.27 Select the most appropriate word for the given group of word.

A factual written account of important or historical events in the order of their occurrence.
Ans X1 journa

J 2 chronce
X 3 reg ster

25 4 chrono ogy

x 4 p utocracy

Queston D 6549782643
Not Attempted and
Status  \arked For R
Chosen Opton --
Q.28 Select the most appropriate word for the given group of words.
Government run by a small group of people
Ans X" 1 arstocracy
/X 2 monarchy
J 3 o garchy ‘

ueston D 6549782640
Status Answered

Chosen Opton 3

Q.29 Select the most appropriate synonym of the given word.

BENIGN
Ans X' 1 ma gnant
x 2 severe 0

J 3 favourabe

x 4 harsh ¢
Queston D 6549782626
L 4 Status Answered
Chosen Opton 3
Q.30 Select the wrol ord.
Ans X1t
x s@mat on
steous
x 4 fascsm
Queston D 6549782647
Status Answered
Chosen Opton 3
56 www.jkchrome.com www.jkchrome.com

www.jkchrome.com



57 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Q.31 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

One morning | went out with my cousin which is the lawyer.
Ans X 1 who sthe

x 2 No subst tut on requ red
x 3 whch sa

(4who sa

Queston D 6549782608
Status Answered
Chosen Opton 4

Q.32 Select the most appropriate ANTONYM of the given word.

EXONERATE
Ans X' 1 absove

/X 2 vnd cate

x 3 acqut ¢
Jzi sentence

ueston D 6549782633
Status Answered
Chosen Opton 2

Q.33 Select the most appropriate word for the given group of word

A particular form of a language which is peculiar
Ans X 1 sang
J 2 daect O

x 3 ngo
x 4 jargon

Queston D 6549782641
L 4 Status Answered
Chosen Opton 1

Q.34 Select the most e option to fill in the blank.

es to see the doctor before my name was announced.

Ans O tng
reWatng

« 3 had beenwatng

x 4 have beenwatng

Queston D 6549782616
Status Answered
Chosen Opton 4
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Q.35 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Everybody who know him agree that he rarely loses his temper.
Ans x 1 whom know h m agrees that

x 2 No subst tut on requ red
J 3 who knows h m agrees that

x 4 who knows h m agrees f

Queston D 6549782612
Status Answered
Chosen Opton 3

Q.36 Select the wrongly spelt word.
Ans 5 1 mdget

x 2 m tant

¢3 m grent
X4 m gra ne 'S

on D 6549782644
Status Answered
Chosen Opton 3

Q.37 Select the most appropriate synonym of the given word.
CHASTE

Ans X' 1 dvne K
W 2 pure Q
X 3 berated O

x 4 defied

Queston D 6549782624
Status Answered
¢ Chosen Opton 1

Q.38 Identify the segme which contains a grammatical error.
Anybody who d op at the red light will fined.
Ans o1
X tRered ght
yboty who
x 4 does not stop

Queston D 6549782603
Status Answered
Chosen Opton 1
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Q.39 Select the most appropriate ANTONYM of the given word.

IRRELEVANT
Ans 11 consequent a

X 2trva

X 3 mmatera

x 4 pontess

Queston D 6549782631
Status Answered
Chosen Opton 1

Q.40 Select the most appropriate option to fill in the blank.

You really need ____ some guidance in Chemistry.
Ans J 1 to take

x 2 take
x 3 takng

X 4 to be tak ng

Q.41 Select the wrongly spelt word.
Ans X 1 decease

JZ dec eve K
X 3 decbe 0

X 4 decency

Queston D 6549782617
Status Answered
Chosen Opton 1

Queston D 6549782645
Status Answered
Chosen Opton 3

Q.42 Select the most appropriat: of the given word.

PRODIGAL
Ans X 1 taepte

XZm es

gent

Queston D 6549782628
Status Answered
Chosen Opton 3
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Q.43 Select the most appropriate ANTONYM of the given word.

USURP
Ans X 1 wrest

x 2 annex

X 3 assume

J4 re ease

Queston D 6549782632
Status Not Answered
Chosen Opton --

Q.44 Select the most appropriate meaning of the given idiom.

Get your money’s worth
Ans J 1 to pay and get someth ng of good va ue

x 2 to buy someth ng very expens ve
X 3 to be cheated n apurchase

x 4 to get someth ng of poor qua ty for free

Queston D 6549782638
Status Answered
Chosen Opton 1

ADMONISH

Ans X 1 scod
X 2 chde 0

Q.45 Select the most appropriate ANTONYM of the given word. K

X 3 wamn
J4 app aud 23

Queston D 6549782630
Status Answered
Chosen Opton 4
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Comprehension:
Read the fo ow ng passage and answer the quest ons that fo ow

Dur ng the decade after bera sat on flor cu ture ndustr es took g ant steps n the export
arena Th s era has seen a dynam c sh ft from sustenance product on to commerc a
product on The area under flor cu ture product on n nd a s around 249 thousand hectares
w th a product on of 1659 thousand tonnes oose flowers and 484 thousand tonnes cut
flowers F orcuture s now commerca ycutvated nsevera states wth Tam Nadu (20%),
Karnataka (13 5%) West Benga (12 2%) hav ng gone ahead of other produc ng states ke
Madhya Pradesh, M zoram, Gujarat, Andhra Pradesh, Od sha, Jharkhand, Haryana, Assam and
Chhatt sgarh
Government of nd a has dent fied flor cu ture as a sunr se ndustry and accorded t 100%
export or ented status Ow ng to steady ncrease nthe demand of flowers, flor cu ture has
become one of the mportant commerc a trades n agr cu ture Hence commerc a flor cu ture
has emerged as h -tech act v ty-tak ng p ace under contro ed ¢ matc condtons ns de
greenhouse Forcuture n nda, s bengvewed as a h gh growth ndustry Commerc a
flor cu ture s becom ng mportant from the export ang e The bera sat on of ndustra and
trade po c es paved the way for deve opment of export-or ented product on of cut flowers
The new seed po cy had a ready made t feas b e to mport p ant ng mater a of nternat ona
varetes thas been found that commerc a flor cu ture has h gher potent a per un t area than
most of the fie d crops and s therefore a ucrat ve bus ness nd an flor cu ture ndustry has
been sh ft ng from trad t ona flowers to cut flowers for export purposes The bera sed
economy has g ven an mpetus to the nd an entrepreneurs for estab sh ng export or ented
flor cu ture un ts under contro ed ¢ mat c cond t ons
nd an flor cu ture ndustry compr ses of flowers such as Rose, Tuberose, G ads, Anthur um,
Carnat ons, Mar go d etc
nd a's tota export of flor cu ture was ¥571 38 crores/$81 94 m on n 2018-19 The maj X 3
mport ng countr es were Un ted States, Nether ands, Un ted K ngdom, Germany and Un
Arab Em rates There are more than 300 export-or ented unts n nd a More than 5
flor cu ture un ts are based n Karnataka, Andhra Pradesh and Tam Nadu Wtht
co aborat ons from fore gn compan es, the nd an flor cu ture ndustry spo s
ts share n wor d trade

SubQuestion No : 46
Q.46 Which three states are the major cultivators of floriculture produ
Ans X' 1 West Benga, Andhra Pradesh and Od sha

X 2 Karnataka, Gujarat and Andhra Pradesh K
x 3 Tam Nadu, Assam and Chhatt sgarh

Status Answered
Chosen Opton 4

J4 Tam Nadu, Karnataka and West BengAO
0% Queston D 6549782651
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Comprehension:
Read the fo ow ng passage and answer the quest ons that fo ow

Dur ng the decade after bera sat on flor cu ture ndustr es took g ant steps n the export
arena Th s era has seen a dynam c sh ft from sustenance product on to commerc a

product on The area under flor cu ture product on n nd a s around 249 thousand hectares
w th a product on of 1659 thousand tonnes oose flowers and 484 thousand tonnes cut
flowers F or cuture s now commerca ycutvated nsevera states wth Tam Nadu (20%),
Karnataka (13 5%) West Benga (12 2%) hav ng gone ahead of other produc ng states ke
Madhya Pradesh, M zoram, Gujarat, Andhra Pradesh, Od sha, Jharkhand, Haryana, Assam and
Chhatt sgarh

Government of nd a has dent fied flor cu ture as a sunr se ndustry and accorded t 100%
export or ented status Ow ng to steady ncrease nthe demand of flowers, flor cu ture has
become one of the mportant commerc a trades n agr cu ture Hence commerc a flor cu ture
has emerged as h -tech act v ty-tak ng p ace under contro ed ¢ matc condtons ns de
greenhouse Forcuture n nda, s bengvewed as a h gh growth ndustry Commerc a

flor cu ture s becom ng mportant from the export ang e The bera sat on of ndustra and
trade po c es paved the way for deve opment of export-or ented product on of cut flowers
The new seed po cy had a ready made t feas b e to mport p ant ng mater a of nternat ona
varetes thas been found that commerc a flor cu ture has h gher potent a per un t area than
most of the fie d crops and s therefore a ucrat ve bus ness nd an flor cu ture ndustry has
been sh ft ng from trad t ona flowers to cut flowers for export purposes The bera sed
economy has g ven an mpetus to the nd an entrepreneurs for estab sh ng export or ented
flor cu ture un ts under contro ed ¢ mat c cond t ons

nd an flor cu ture ndustry compr ses of flowers such as Rose, Tuberose, G ads, Anthur um,
Carnat ons, Mar go d etc

nd a's tota export of flor cu ture was ¥571 38 crores/$81 94 m on n 2018-19 The maj
mport ng countr es were Un ted States, Nether ands, Un ted K ngdom, Germany and Un

Arab Em rates There are more than 300 export-or ented unts n nd a More than 5
flor cu ture un ts are based n Karnataka, Andhra Pradesh and Tam Nadu Wtht
co aborat ons from fore gn compan es, the nd an flor cu ture ndustry spo s
ts share n wor d trade

SubQuestion No : 47
Q.47 What gave a major fillip to the export of Indian floriculture produ

Ans X 1 The use of techno ogy n cu t vat ng flowers ns de gr ou

X 2 The new po cy to ease the mport of seed aretes

x 3 The demand from many countr es ke the US,

J4 The bera saton of ndustra and tradeffo c esgyy Wre government

L 3 Queston D 6549782652

Status Answered

Chosen Opton 4
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Comprehension:
Read the fo ow ng passage and answer the quest ons that fo ow

Dur ng the decade after bera sat on flor cu ture ndustr es took g ant steps n the export

arena Th s era has seen a dynam c sh ft from sustenance product on to commerc a

product on The area under flor cu ture product on n nd a s around 249 thousand hectares

w th a product on of 1659 thousand tonnes oose flowers and 484 thousand tonnes cut

flowers F or cuture s now commerca ycutvated nsevera states wth Tam Nadu (20%),

Karnataka (13 5%) West Benga (12 2%) hav ng gone ahead of other produc ng states ke

Madhya Pradesh, M zoram, Gujarat, Andhra Pradesh, Od sha, Jharkhand, Haryana, Assam and

Chhatt sgarh

Government of nd a has dent fied flor cu ture as a sunr se ndustry and accorded t 100%

export or ented status Ow ng to steady ncrease nthe demand of flowers, flor cu ture has

become one of the mportant commerc a trades n agr cu ture Hence commerc a flor cu ture

has emerged as h -tech act v ty-tak ng p ace under contro ed ¢ matc condtons ns de

greenhouse Forcuture n nda, s bengvewed as a h gh growth ndustry Commerc a

flor cu ture s becom ng mportant from the export ang e The bera sat on of ndustra and

trade po c es paved the way for deve opment of export-or ented product on of cut flowers

The new seed po cy had a ready made t feas b e to mport p ant ng mater a of nternat ona

varetes thas been found that commerc a flor cu ture has h gher potent a per un t area than

most of the fie d crops and s therefore a ucrat ve bus ness nd an flor cu ture ndustry has

been sh ft ng from trad t ona flowers to cut flowers for export purposes The bera sed

economy has g ven an mpetus to the nd an entrepreneurs for estab sh ng export or ented

flor cu ture un ts under contro ed ¢ mat c cond t ons

nd an flor cu ture ndustry compr ses of flowers such as Rose, Tuberose, G ads, Anthur um,

Carnat ons, Mar go d etc

nd a's tota export of flor cu ture was ¥571 38 crores/$81 94 m on n 2018-19 The maj ¢
mport ng countr es were Un ted States, Nether ands, Un ted K ngdom, Germany and Un

Arab Em rates There are more than 300 export-or ented unts n nd a More than 5
flor cu ture un ts are based n Karnataka, Andhra Pradesh and Tam Nadu Wtht
co aborat ons from fore gn compan es, the nd an flor cu ture ndustry spo s
ts share n wor d trade

SubQuestion No : 48
Q.48 The main theme of the passage is:

Ans J1 the r se of flor cu ture ndustry n nd a

X 2 commerca sat on of flor cu ture K
x 3 the Government’s po ¢ es regard ng flor cu tu

x 4 the export of flowers from nd a O
\ 2

Queston D 6549782654
Status Answered
Chosen Opton 1
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Comprehension:
Read the fo ow ng passage and answer the quest ons that fo ow

Dur ng the decade after bera sat on flor cu ture ndustr es took g ant steps n the export
arena Th s era has seen a dynam c sh ft from sustenance product on to commerc a

product on The area under flor cu ture product on n nd a s around 249 thousand hectares
w th a product on of 1659 thousand tonnes oose flowers and 484 thousand tonnes cut
flowers F orcuture s now commerca ycutvated nsevera states wth Tam Nadu (20%),
Karnataka (13 5%) West Benga (12 2%) hav ng gone ahead of other produc ng states ke
Madhya Pradesh, M zoram, Gujarat, Andhra Pradesh, Od sha, Jharkhand, Haryana, Assam and
Chhatt sgarh

Government of nd a has dent fied flor cu ture as a sunr se ndustry and accorded t 100%
export or ented status Ow ng to steady ncrease nthe demand of flowers, flor cu ture has
become one of the mportant commerc a trades n agr cu ture Hence commerc a flor cu ture
has emerged as h -tech act v ty-tak ng p ace under contro ed ¢ matc condtons ns de
greenhouse Forcuture n nda, s bengvewed as a h gh growth ndustry Commerc a

flor cu ture s becom ng mportant from the export ang e The bera sat on of ndustra and
trade po c es paved the way for deve opment of export-or ented product on of cut flowers
The new seed po cy had a ready made t feas b e to mport p ant ng mater a of nternat ona
varetes thas been found that commerc a flor cu ture has h gher potent a per un t area than
most of the fie d crops and s therefore a ucrat ve bus ness nd an flor cu ture ndustry has
been sh ft ng from trad t ona flowers to cut flowers for export purposes The bera sed
economy has g ven an mpetus to the nd an entrepreneurs for estab sh ng export or ented
flor cu ture un ts under contro ed ¢ mat c cond t ons

nd an flor cu ture ndustry compr ses of flowers such as Rose, Tuberose, G ads, Anthur um,
Carnat ons, Mar go d etc

nd a's tota export of flor cu ture was ¥571 38 crores/$81 94 m on n 2018-19 The maj
mport ng countr es were Un ted States, Nether ands, Un ted K ngdom, Germany and Un

Arab Em rates There are more than 300 export-or ented unts n nd a More than 5
flor cu ture un ts are based n Karnataka, Andhra Pradesh and Tam Nadu Wtht
co aborat ons from fore gn compan es, the nd an flor cu ture ndustry spo s
ts share n wor d trade

SubQuestion No : 49
Q.49 The area under floriculture production in India is about:

Ans X" 1 1659 thousand hectares

X 2 484 thousand hectares K
J 3 249 thousand hectares
x 4 571 thousand hectares O

¢ Queston D 6549782650

Status Answered

Chosen Opton 3
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Comprehension:
Read the fo ow ng passage and answer the quest ons that fo ow

Dur ng the decade after bera sat on flor cu ture ndustr es took g ant steps n the export
arena Th s era has seen a dynam c sh ft from sustenance product on to commerc a

product on The area under flor cu ture product on n nd a s around 249 thousand hectares
w th a product on of 1659 thousand tonnes oose flowers and 484 thousand tonnes cut
flowers F orcuture s now commerca ycutvated nsevera states wth Tam Nadu (20%),
Karnataka (13 5%) West Benga (12 2%) hav ng gone ahead of other produc ng states ke
Madhya Pradesh, M zoram, Gujarat, Andhra Pradesh, Od sha, Jharkhand, Haryana, Assam and
Chhatt sgarh

Government of nd a has dent fied flor cu ture as a sunr se ndustry and accorded t 100%
export or ented status Ow ng to steady ncrease nthe demand of flowers, flor cu ture has
become one of the mportant commerc a trades n agr cu ture Hence commerc a flor cu ture
has emerged as h -tech act v ty-tak ng p ace under contro ed ¢ matc condtons ns de
greenhouse Forcuture n nda, s bengvewed as a h gh growth ndustry Commerc a

flor cu ture s becom ng mportant from the export ang e The bera sat on of ndustra and
trade po c es paved the way for deve opment of export-or ented product on of cut flowers
The new seed po cy had a ready made t feas b e to mport p ant ng mater a of nternat ona
varetes thas been found that commerc a flor cu ture has h gher potent a per un t area than
most of the fie d crops and s therefore a ucrat ve bus ness nd an flor cu ture ndustry has
been sh ft ng from trad t ona flowers to cut flowers for export purposes The bera sed
economy has g ven an mpetus to the nd an entrepreneurs for estab sh ng export or ented
flor cu ture un ts under contro ed ¢ mat c cond t ons

nd an flor cu ture ndustry compr ses of flowers such as Rose, Tuberose, G ads, Anthur um,
Carnat ons, Mar go d etc

nd a's tota export of flor cu ture was ¥571 38 crores/$81 94 m on n 2018-19 The maj
mport ng countr es were Un ted States, Nether ands, Un ted K ngdom, Germany and Un

Arab Em rates There are more than 300 export-or ented unts n nd a More than 5
flor cu ture un ts are based n Karnataka, Andhra Pradesh and Tam Nadu Wtht
co aborat ons from fore gn compan es, the nd an flor cu ture ndustry spo s
ts share n wor d trade

SubQuestion No : 50
Q.50 Which of the following statements is NOT true according to the pasi a

Ans x 1 Forcuture has been dent fied as a sunr se ndustry e Goue
J 2 nda'stota export of flor cu ture was $571&8 n -19

x 3 More than 50% of the flor cu ture un ts are bas8@yn Karni@taka, Andhra Pradesh and

Tam Nadu
x 4 F or cu ture has been accorded a 10@% égport status by the Government
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